Note I have referred to reversals as continuations in the below screenshots. 
[bookmark: _GoBack]Entry:
RSI 6 and RSI 12 cross 70 line buy cross below 30 = sell. Enter trade at open of next candle.
Take Profit:
Take profit is 1XATR as taught in NNFX risk management.
Once the take profit is hit, close half the position, and move the stop to break even. More details on exits below.
Stop Loss:
Stop is 1.5XATR for all positions

Exit when:
1. Stop loss hit
2. Hit take profit and price goes back to entry
3. RSI 6 crossed above 30 line if selling / RSI 6 crosses below 70 line if buying.
[image: ][image: ]
In the second screenshot, the line the RSIs are crossing is the 70 line.
Reversal:
After RSI 6 and 12 successfully crossed above 70 (long) or below 30 (short) even if losing trade, once RSI 6,12 and 24 aline in opposite direction of trade enter for reversal. 
However, this only applies to certain circumstances.
Reversal conditions:
 1.  RSI 6, 12 and 24 must be separate. There must be space in between the lines.
[image: ][image: ][image: ]
[bookmark: _Int_ZqQPVDG5]2. There must not be more than two occasions when the line cross over each other. This refers to any line crossing over, so it does not mean all three have to cross.
Some examples
[image: ]Here there are two occasions where the lines headed in the right direction, but failed to separate and came back down. [image: ]This would be an entry as there was only one failed crossover.
4. The lines cannot lay on top of each other for too long. Ideally, the entry needs to happen within 6 candles of the RSI 6 cross (exit)
[image: ][image: ]
[image: ]
The below screenshot is not an entry as there was a failed cross over, the lines laid on top of each other, and the separation came after 6 candles from the exit
[image: ] [image: ]
On the other hand, below is an example of an entry in good time
[image: ]
5. Exit when either :
A) RSI 6 crosses below the 30 line (short) and above the 70 line (long) 
[image: ]
B) If any of the lines cross.
[image: ][image: ]
The below is not an exit as the line got close but did not cross.
[image: ]

Here are some more examples of a good reversal entry:
[image: ][image: ][image: ][image: ]
[image: ]
 Reversal Take Profit:
Just like with the original entry, the take profit will be 1XATR, close half the position, move stop to break even. Exit when price hits break even, lines cross, or RSI 6 crosses above 70 / below 30.
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